@ Bitspawer® instruction manual

Accessories

Bitspower Nebula VGA Water Block for

o BP-VG4080MSR 1SET

MSI GeForce RTX 4080 SUPRIM and GAMING series @ 1258 Screw’ 11PCS
" €) M2.5x6 Screw 2PCS

Step 1 ? Step 2 - O Backplate 1PCS
(Not included) 'Two screws fastened in advance.

Before installing the graphics
card, please make sure that
the GPU has been coated with
thermal paste. In addition, please
tear off the films on the thermal
pads of the water block.

(1]



@ Bitspower®

Step 5 Original bracket(Not included)

Original I/O(Not included)

Original screw(Not included)

(2]

. . SN
instruction manual

Accessories

€) 5pP-vG4080MSR
9 M2.5 x 8 Screw!
€) M2.5x6 Screw

Q Backplate

‘)IrDigital RGB PIN on @€ motherboard or €)
other equipment.

motherboard

#) BPTA-DRGBMFC

DRGB Multi Function Controller
(Not included)

'Two screws fastened in advance.



Bitspower® ‘

.
) @
0® o ° __ o @
e =J o @ @
. b
2
@
@ o 0
‘0, @
© ©
o[JJo
o O o
= 2
[P (e}
2 5 =
T .
2( 3
l4
]3 mo
Lo [ LI S

KL Use an appropriate amount of thermal paste.(Not Include)

Make sure the correct thermal pads are in the appropriate locations.

B 1.0 mm Thermal pad

I 1.5mm Thermal pad

(3]

. ) S\
instruction manual

®
®
@
5
@ ® N
o o )
o o
) - ° °
oo O 5
O
o}
[o] o
L Lo
Name Specification Quantity
Thermal pad 1 15X37X1mm 2
Thermal pad 2 6X52X1mm 4
Thermal pad 3 14X50X1mm 5
Thermal pad 4 8X12X1mm 6
Thermal pad 5 93.8X19.5X1.5mm 2




@ Bitspower®

& Notice

e Before filling with water, please make sure all the components are installed correctly. To prevent any leakage
which may damage the PC components, please perform a 24-hour leak test with only the pump connected to
the power supply.

e Bitspower reserves the right to change the product design and specifications. These are subject to change
without notice. Product colors and accessories are based on the actual product.

e When using leak tester on water cooling loop, in order to avoid product damage due to excessive pressure, the
input pressure should not exceed 0.5kg/cm? (Bar). If the product is damaged due to excessive pressure, it will
be the fault of the customer. DO NOT use the leak teser when there is water in the loop or the pump is running.

e Bitspower recommends that customers use Bitspower Pellucid Coolant for their coolant fluid. It is also
recommended to use Bitspower Dye to create any desired color. If the customer chooses different liquid
coolants, the resulting impurities may cause peeling of the coating on some of the hardware, water channel
blockage by built-up residue, improper operation of the water pump, water tank tube breakage, and o-ring
deformation leading to leakage. Any issues related to the use of inappropriate liquid coolants will be the
responsibility of the customer.

(4]



@ Bitspower (EFRRERE

Ao
Bitspower Nebula VGA Water Block for @ 5evciosovsy L
MSI GeForce RTX 4080 SUPRIM and GAMING series @) v25x8 8 1%
" €) M2.5x6 144 2%
HER 1 HER 2 2
? - O »in 1R
< IRAB TSR

EREBRZA  HRE GPU ER
LEWE -

B9h » SEH TS D ER0Rs
P& o

TER 3

(5]



@ Bitspower® fEFARAEE

e
€) 5pr-vG4080MSR 148
@) V258 1%
€) M2.5x6 144 2%
7 X R S N
$HEE 5 AR 2R (REHE) O =r 1R
I ARIRARTRS T

R4 (A EHE)

REEIENR (TEE)



Bitspower® ‘ 50 ’
) [® o
@ ° @o °@ °
32
7 o o2
® o °@ o
o [ o
M o -
° (HAT
T - .
2| 3
l4
]3 mo
o1 S

J

=4

KK TEEEREHE (T8E)
B R NIERERUE

B 1ommERBR

I 15mmERBA

fErmRE .

® ® [1e
®
@
5
@ ® N
o o )
o o
) - ° °
5 oo 0O 5
O
o}
[o] o
L Lo
Name Specification Quantity
Thermal pad 1 15X37X1mm 2
Thermal pad 2 6X52X1mm 4
Thermal pad 3 14X50X1mm 5
Thermal pad 4 8X12X1mm 6
Thermal pad 5 93.8X19.5X1.5mm 2




égsﬁanxpaumv®

S =i
/NEE
o HMI/KF] > AIMHRIIEESHEZEFIEMNNE L > AT > EFR/KENERT » &7 24 /NEFRVEAGRIE »
RREREREERLN  BRR BTSSR EES R -

o NATBREHEMIRTENURERENES » MABSHOAHITEN > ERREHEEHUBYAZE -

o BFEAARERAFKER, ABREHTENBANEHERBIE , BANBEIERZEBB 0.5kg/cm’ (Bar), MNEE T
BAREMERBIER , KEEFBITAE . BREREKBRAKRKREMNIER T ETRISHEAE o

e Bitspower ZZ HEEEA Bitspower FERR/LANK © b5 > tBILURNN Bitspower Zui BB Al& P LUm EEEE

2R - MEHEEFEEANRNNSR > ARG 5 EKBEHTNERRE « MIGHEEKE « KRER  KFEERH
IR O BEZEHITERRAKSE - HARERAEKSREBMEMNEEREHEERTAR -

(8]



@ Bitspower® (SRS

e
Bitspower Nebula VGA Water Block for @ 5o vcaosomsy L
MSI GeForce RTX 4080 SUPRIM and GAMING series @ M25xsim; 1%
" €) v25x6i8L 2%
ST 1 ST 2 O s+ .
? e IRELTIRE

EREERZA > EHR GPU BiR
ESRE -

Fo 0 BTG KSR EHING
fE o

(9]



@ Bitspower® e %WH%

[wes
€) Br-vG4080MSR 14
@) v25xgigL: 1%
M2.5 x 6 84 2%
FTES JRIZ2R (~NEfE ) ©
- o O »ix 1K
' FRIR L TS B

JRI 9842 ( RNELFE )

R 154 (85



Bitspower® ‘ 50 ’
) [® o
@ ° @o °@ °
32
7 o o2
® o °@ o
o [ o
M o -
° (HAT
T - .
2| 3
l4
]3 mo
o1 S

J

=4

KK EEEASAE (FEE)
SHERNEBNAUE

B 1.0mm S8R

0 15 mm SRBA

BB

® ® [1e
®
@
5
@ ® N
o o )
o o
) - ° °
5 oo 0O 5
O
o}
[o] o
L Lo
Name Specification Quantity
Thermal pad 1 15X37X1mm 2
Thermal pad 2 6X52X1mm 4
Thermal pad 3 14X50X1mm 5
Thermal pad 4 8X12X1mm 6
Thermal pad 5 93.8X19.5X1.5mm 2




@ Bitspower®

N
/NEFE
o HI/KH] > IBRMIANFTEZEHELZETFEMNUE L > TAFEN  BEAKENERT » #1724 /NERYEE KGN »
BERTRKEREEFEY @ BRLE RKMEHBHEEFAIIHRIER o

o RATHREXmBVIRIT BRG] » MBEBHBAFZITEN > = mEie SEAF UKL -

o LFEAMSFRMIAKERE , ABERETFEIIASES~RRF , MANEIEREEBIT 0.5kg/cm? (Bar), tIRAES
WARERNF IR, JFHEEF BITEE . FREPEKRAKRIKRABRIE R FHITRUREENIR

e Bitspower BiHZEEFEF Bitspower BRH/Z AN © tESh » tHBILAUAIN Bitspower ZLil EIERR /2 AR P LUREEI R
ER o NRHBFIEEZERRNKZLRK » AJSERS REKBBEHFRIRERE ~ FUREREKIE ~ KRER ~ KBERH -
iR O BB Z M S BIRKE « EAAFEBEAHKLREBEXNRMEHBEEEBTHR



